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Sésamath

Maths TS obligatoire
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énoncé

141 L
Le nombre complexe e estégal a:
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correction

14i  (1+1)(1+2i)
T—2i  (1—2i)(1+2i)
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correction

1+i  (14i)(142i)

1-21  (1-—2i)(1+2i)
14240+ 2§
12422
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correction

1+i  (14i)(142i)

1-21  (1-—2i)(1+2i)
14240+ 2§
12422
1432
5
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correction

T+i  (1+1i)(1+2i)

1-2i  (1-2i)(1+2i)
1420 +i+2i
To12422
1+43i-2
==
—1+3i
-5
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correction

1+i  (14i)(142i)

1-21  (1-—2i)(1+2i)
14240+ 2§
S 12422
1432
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correction

1+i  (14i)(142i)

1-21  (1-—2i)(1+2i)
14240+ 2§
S 12422
1432

réponse d)
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